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                   SECTION – A  

                  Answer any FIVE questions. 

 
 (5   8 = 40) 

 

1.  Explain the relationship between sociology and other social disciplines.  

2.  Define modernization. 

3.  How demographic changes affect society. 

4.  Describe briefly the poverty levels and unemployment in India. 

5.  Define Law of Demand. 

6.  Describe concentration of wealth in India. 

7.  Define Human Resource. 

8.  What are the measures of employment and unemployment? 

     

SECTION – B  
                                      Answer any THREE questions.             (3   20 = 60) 

 
9.  Describe family types, its function and changes that have happened in India 

over time. 

10.  Describe the social problems existing in India and suggest ways to tackle these 
problems. 

11.  Write an essay on the levels and trends in factors of production in India.  

12.  Explain the status of income inequalities and concentration of wealth in India. 

13.  Critically examine unemployment in India. 
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jkpHhf;fk; 
 

                       gFjp - m  
                                     vitnaDk; Ie;J tpdhf;fSf;F tpilaspf;ft[k;.  

 

(5   8 = 40) 

 

1.  r_ftpaYf;Fk; kw;w r_f mwptpaYf;Fk; cs;s bjhlh;ig bjspt[gLj;Jf. 

2.  etPdkakhjy; vd;gjid tiuaWf;ft[k;. 

3.  kf;fspay; khw;w';fs; r_fj;ij vt;thW ghjpf;fpd;wd? 

4.  ,e;jpahtpy; tWik kw;Wk; ntiyapd;ik Fwpj;J rpWFwpg;g[ tiuat[k;. 

5.  gad;ghl;L Ma;t[ tpjp vd;gjid tiuaWf;ft[k;. 

6.  ,e;jpahtpy; bry;tf; Ftpg;g[ vd;gjid tpthpf;ft[k;. 

7.  ‘kdpj tsk;’ vd;gij tiuaWf;ft[k;. 

8.  ntiytha;g;g[ kw;Wk; ntiytha;g;gpd;ik Kjypatw;iw mstplg; gad;gLk; 
mstPLfs; ahit? 

 
gFjp - M 

   vitnaDk; _d;W tpdhf;fSf;F tpilaspf;ft[k;.  
 

9.  FLk;g mikg;g[ vd;gij tpthpj;J/ mjd; Kf;fpaj;jtj;ij tpthpj;J 
,e;jpahtpy; FLk;g mikg;gpy; Vw;gl;Ls;s khw;w';fs; Fwpj;J vGJf. 

10.  ,e;jpahtpy; epyt[k; r_fg; gpur;ridfs; Fwpj;J tpthpj;J mg;gpur;ridfis 
vjph;bfhs;s ntz;oa eltof;iffis ghpe;Jiuf;ft[k;. 

11.  ,e;jpahtpy; cw;gj;jpf; fhuzpfspd; epiy kw;Wk; gy;ntWgl;l fhy';fspy; 
mjpy; Vw;gl;l khWghL Fwpj;J vGJf. 

12.  ,e;jpahtpy; epyt[k; tUtha; Vw;wj;jhH;t[ kw;Wk; brhj;Jf; Ftpg;g[ Fwpj;J 
vGjt[k;. 

13.  ,e;jpahtpy; epyt[k; ntiytha;g;gpd;ik Fwpj;J tpkh;rpj;J vGjt[k;. 
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(3   20 = 60) 

http://www.tnstudy.com

http://www.tnstudy.com

